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50 Ball thrown from above the ground ¥

A ball is thrown vertically upwards, leaving the hand at a height of 1.2 m above the ground.
It hits the ground 2.5s after leaving the hand. (1315p2023)

a) Determine the speed with which the ball left the hand.
b) Detéermine the maximum height above the ground reached by the balll
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134 Vector subtraction, 1

Two displacement vectors, A and B are illustrated.
(131F2024)

"a) Determine the components of € = A — B.
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135 Ball launched from a cliff
A person hits a ball from the top of a cliff. The ball:f‘ leaves at height of 12 m above the surface
of the water at angle 30° above the horizontal. It hits the water 2.5s later. (131F2024)

| a) Determine speed with which the ball is launched.

b) Determine the horizontal distance traveled by the ball.
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